A

H

eel:

2s0s 48,601,255 43,665,836 4,935,419
2 13,646,857
3 5,714,000
] 3,971,920
= 2,419,165
= 22,849,313
Lees UL 28 2 XAD(23 L2 /28 0 5,286,700 4,412,700 874,000
= 2,158,000
=) 300,000
= 2,828,700
ZRE8 IIXEE 1,172,900 1,062,900 120,000
Y AN 1,172,900 1,052,900 120,000
201 LEh2 | 270,000 343,000 A73,000
01 A2l 270,000 343,000 A73,000
OUVTA BEF 270,000
202 OfH 2,900 2,900 0
01 2UHoi| 2,900 2,900 0
oAE AT d2FH 2,900
301 LA 90,000 87,000 3,000
12 J|EH2 42 90,000 87,000 3,000
OURETA BEANY 24 90,000
308 X XI M SOI & 500,000 450,000 50,000
01 HXISHHALEES 500,000 450,000 50,000
oot B2 o7 150,000
o2og gold o 60,000
083 0/0] 17 150,000
023 WA o7 30,000
OS2 OlsH o7 30,000
o8z o7 20,000
odltas o7 20,000
OHES= M= AY 40,000
403 XHXI EHH STHEOIH 310,000 170,000 140,000
01 XX SR 22 % 310,000 170,000 140,000
S3l=2 A 4 =HFH| 10,000
OZAQY HilAY 300,000
SESs Y24 4,113,800 3,359,800 754,000
= 2,158,000
3 300,000
€ 1,655,800
SEQIS 2HUA 394,800 304,800 90,000
202 Ot 4,800 4,800 0
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2A: 280
X‘I iH : :o

2 A
— (=]
& SERS Y=2=

01 SLHOiLI 4,800 4,800 0

OBEDIBHAET 4,800
307 212+0| & 90,000 90,000 0
02 QINBNEE 90,000 90,000 0
OZoNY2E (3l 90,000
308 XHXIEHHI SO & 300,000 210,000 90,000
0 HXSHBANETS 300,000 210,000 90,000
ZQRABAN X 50,000
oL HALI0IZH 25,000
CEELEEE Y-S5 40,000
oha 2atEA 90,000
ORXI255 LAAKHESH X 70,000
OXTHE 010F EX 25,000
YAT BESBY AY 48,000 48,000 0
201 ger2 gl 28,000 28,000 0
01 AtR 22l H] 7,000 7,000 0
OUAT BE2SN AN 7,000
03 #A2 b 21,000 21,000 0
OUAT BESSA AL 21,000
301 ABHB A 20,000 20,000 0
12 JIErE &S 20,000 20,000 0
OLRAT BESBA A4 20,000
£508 243 376,000 86,000 290,000
307 212H0I & 36,000 36,000 0
R TES 36,000 36,000 0
OFAH SERY 2Y 36,000
308 X+XI EHHI SO 40,000 50,000 10,000
BN ERCES] 40,000 50,000 210,000
OLSEW 70054 J|EAIY 40,000
403 X SHMSKH=0IH 300,000 0 300,000
01 A2 EE 300,000 0 300,000
OFSHERRD A 300,000
BECIE 2HYAH(RD) 12,000 12,000 0
= 8,000
< 4,000
308 XHXI €t SO & 12,000 12,000 0
2 8,000
= 4,000
01 AXSHBAETS 12,000 12,000 0
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SN 230ED
Iu: YRS MUY Y L INADSHLBB/25002)
o9l BESS Y2SY

P IEEBE 12,000
= 8,000
= 4,000
HEANBEENS 29 3,000 3,000 0
201 YEr2gH| 3,000 3,000 0
01 At 2t2IHI 3,000 3,000 0
OHSAE BESRS 29 3,000
XS5 AR (2D) 545,000 1,906,000 £1,361,000
= 300,000
< 245,000
308 X+ EHHI SOI 545,000 1,906,000 A1,361,000
= 300,000
= 245,000
01 RXSHBLESES 545,000 1,906,000 A1,361,000
OLES M ASHZ Z=0l W 200,000
= 100,000
& 100,000
OYHUEB2SN 2FUS 200,000
= 100,000
] 100,000
OSUHAMTA N 145,000
= 100,000
= 45,000
sESs MEAL AY(2D) 2,275,000 1,000,000 1,275,000
= 1,750,000
= 525,000
403 XHXISHHI S XHROI R 2,275,000 1,000,000 1,275,000
= 1,750,000
< 525,000
01 RXISHH 2R E 2,275,000 1,000,000 1,275,000
OUS =8 HHISAYEZ AE 2,275,000
= 1,750,000
= 525,000
EISITHS A B8l 100FE DI A (22) 460,000 0 460,000
= 400,000
= 60,000
308 XtXI EHHISOI & 460,000 0 460,000
= 400,000
= 60,000
01 R EHBLEES 460,000 0 460,000
OEHSIHE AL EFAI00FE D11 AP 460,000
= 400,000
= 60,000
UAD B LSHESALDT/2EH0IE) 21,855,060 19,646,421 2,208,639
= 969,630
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FA: Sstolzn

FH: AR WY YsH(ESst2Z/280E)

Eel: 23IIIBAIE L XISES

4,760,000

=
p] 2,599,000
£ 130,000
= 13,396,430
SSIIBAIEL XSS 7,732,600 7,323,700 408,900
3 2,760,000
= 4,972,600
2318 ANEHY 536,600 386,700 149,900
202 01t 6,600 6,700 2100
01 ZLH0iH] 6.600 6,700 £100
OS3IIE NEAY BAFH 6,600
308 Xt X EHHI SOl & 50,000 0 50,000
01 HXSHZASES 50,000 0 50,000
O=3NE 2Y 245t N 50,000
403 KX M S X201 & 480,000 380,000 100,000
01 XX SRR =R X 480,000 380,000 100,000
OXSTHB 2% 43 XY 30,000
OLES NEIAE 2oL 2 100,000
OUS X HEZ NEEY 100,000
o3t 2SstHE JsEY 50,000
OUE HHUS HN2THB ALY 200,000
Tyuew AY(21) 1,150,000 1,470,000 320,000
403 XX EHRI S XH2 01 & 1,150,000 1,470,000 320,000
01 XS H A2 EE 1,150,000 1,470,000 £320,000
oYBzHHE AY 600,000
OoME AT SR AY 550,000
20|52 (22) 1,860,000 800,000 1,060,000
z 260,000
3 1,600,000
403 XX EHHI S XH2 01 & 1,860,000 800,000 1,060,000
= 260,000
= 1,600,000
01 RHXISHH 22X 1,860,000 800,000 1,060,000
o3t 2atssB 2ReY 260,000
= 260,000
OFHOIIY HASSBAME 2Y 1,600,000
IZSHB AY(2D) 3,335,000 4,667,000 1,332,000
z 2,000,000
= 1,335,000
403 XX EHRI S XHE 01 & 3,335,000 4,667,000 £1,332,000
= 2,000,000
- 1,335,000
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2A: 2st0is

Y Y24 IWH YH(SAL2E/20=)
CI-OI:
T

EEEED

HO
fon
N
<
=
X

[o]
>
I
Jo
Of

01 X EHA2EE 3,335,000 4,667,000 41,332,000
OAFSHES A AHE 1,140,000
3 900,000
= 240,000
OEZANEEZTA2 HE 425,000
OEHUSTNZ HE 1,450,000
& 1,100,000
& 350,000
Ogd B3 M2 2 320,000
&g or3ds 24 131,000 0 131,000
307 g12Hol & 131,000 0 131,000
05 B2t} ES 131,000 0 131,000
ol=g orA3dd 29 131,000
S0l JISAE ZEAMY 200,000 0 200,000
& 100,000
=S 100,000
403 ItXI RS A=01™ 200,000 0 200,000
3 100,000
[ 100,000
01 AXEHMIAEEE 200,000 0 200,000
oY== JI8AE ZLEAMY 200,000
=4 100,000
< 100,000
HERs WEXNH(Z21) 520,000 0 520,000
3 400,000
= 120,000
403 XM SKH20IH 520,000 0 520,000
3 400,000
[ 120,000
01 AXIEHAEEE 520,000 0 520,000
OB MSUH MEFHE A 520,000
2 400,000
= 120,000
Za0lzs ENA 2= 5,925,100 5,187,400 737,700
= 800,000
Il 1,104,000
= 130,000
& 3,891,100
ESuELSEN & FHLE 46,000 81,000 £35,000
202 Ol 4,000 4,000 0
01 =WHAHI 4,000 4,000 0
OEWF RE55d & FHAS = 4,000
307 2iztol & 42,000 77,000 A35,000
04 QIZIHALE X 42,000 77,000 235,000
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SA:

=L

Ehel:

E3t0l=1

y@2stel AW YsHR3

230ls AEMA 2=

OS=0r NgE2 0l

Rl

12,000

oyUC-SE2E =X 15,000
OUSHY e-AZXTY 15,000
S50s FRYE N 1,056,600 947,600 109,000
= 130,000
= 926,600
202 01t 6,600 7,600 21,000
01 2UHO1HI 6,600 7,600 21,000
0230 FRHE X 6,600
307 BI2HOI & 725,000 735,000 210,000
02 QIZHAEE 130,000 105,000 25,000
OEXSHH HRA A 50,000
OLR DISHE HOH 80,000
03 ABI SR X2 95,000 95,000 0
OMBICH 29H| X2 95,000
04 QIZFBAE X 500,000 535,000 A35,000
OSSN MA XY 500,000
308 RHXISHHI S0 & 275,000 205,000 70,000
= 130,000
< 145,000
01 IXSHBAEES 275,000 205,000 70,000
OLES 2HFAY ESH 35,000
OAAYS DISHHA 10,000
ouze es=w 100,000
OROPIE 23ES N 130,000
= 130,000
403 THXISHH S RH0| & 50,000 0 50,000
01 XX =22 E 50,000 0 50,000
OEX 232 AlLE2 50,000
AASIS S YA 1,960,000 1,260,000 700,000
306 &012 1,800,000 1,100,000 700,000
NELE] 1,800,000 1,100,000 700,000
o023z MEAY 1,300,000
OSSE B4II2 500,000
307 BI2HOI & 160,000 160,000 0
05 QIZte eta 160,000 160,000 0
oA 2s B 160,000
e 2o 843 105,500 100,800 4,700
202 OfHl 2,500 2,800 A300
RETEE 2,500 2,800 A300
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2N 250z
M ABso FUY LSS 2R/28002)
e S3s dENMAH 2E (& &d)

2,500
307 g12t0l ™ 31,000 26,000 5,000
02 AUABAEE 31,000 26,000 5,000
OHEENE IS 11,000
OEEZSIAL AL T3S 10,000
OAE=0l 2HU3 10,000
308 XXl EtMI SO0 & 72,000 72,000 0
01 HXEHBILEERS 72,000 72,000 0
ONL2sE AtEY 2EXA 72,000
NL2se AMEHXA(21) 800,000 1,180,000 A380,000
= 800,000
403 XXM SAH=0lH 800,000 1,180,000 £A.380,000
& 800,000
01 XS A2 800,000 1,180,000 £.380,000
OEd2SH U= 800,000
= 800,000
230l xS XN¥(21) 1,937,000 1,618,000 319,000
] 1,104,000
[ 833,000
307 212t01 ™ 1,937,000 1,618,000 319,000
2l 1,104,000
= 833,000
02 BItBMEX 1,937,000 1,618,000 319,000
QuXgA 23 X 200,000
2l 100,000
S 100,000
o2&t JIEXNA 360,000
I 180,000
S 180,000
O oFHHM S4 677,000
I 474,000
5 203,000
OXS2soe SEXA 700,000
2 350,000
= 350,000
AEE 01s&E 22 20,000 0 20,000
201 B2 20,000 0 20,000
01 At 22l 20,000 0 20,000
OZ=E NI&sXE MRS 22 20,000
FHMEEE 2438 4,689,360 3,894,321 795,039
= 969,630
7l 42,000
= 3,677,730
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ok

Hw:

=

=30l=
2PEse Yy (S
SO MRS 2435

600

0
| o
| o

o3oE ol 91,334
405 XH4HE S| 20,000 20,000 0
NP EEEEET 20,000 20,000 0
OZEUSE o) U HETY 20,000
Z0He 2oMEBS X 20,000 20,000 0
307 2I2+0I & 20,000 20,000 0
02 RIABARE 20,000 20,000 0
OANE2 HOHQAEE Y523 A 20,000
Mgt P 12,000 12,000 0
307 2120l & 12,000 12,000 0
02 UABNBE 12,000 12,000 0
O=AB LAY N 12,000
CoSHNEIZIY 29 47,000 37,000 10,000
307 2120l & 47,000 37,000 10,000
02 PIANANET 47,000 37,000 10,000
OLASE 21C HIF ArLS 15,000
OLRDEN U HAURHA 2 22,000
oLRSHUEY 2 10,000
DTTAHT HBAIZ AR (2D) 237,000 220,800 16,200
=2 237,000
308 X+XI €M SOl & 237,000 220,800 16,200
= 237,000
01 XS HBM2ES 237,000 220,800 16,200
OTBEAE HBAL AFSY 237,000
=2 237,000
NeS43 20 DSAY(2D) 262,000 131,000 131,000
=2 131,000
= 131,000
308 XHXIEHHISOI® 262,000 131,000 131,000
= 131,000
= 131,000
0l HXSHALRES 262,000 131,000 131,000
OXNHSH3 2502 nS 262,000
= 131,000
£ 131,000
a0 2s0zns B45(21) 903,260 903,260 0
2 451,630
< 451,630
307 212401 & 903, 260 903, 260 0
= 451,630
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2AM:
FE:

e9l:

S8z
22 ZHY (2L 2Z/28

FHMEES 243

[
40
a
o

< 451,630
02 QItFAE X 903,260 903,260 0
O=2=0F GI=2ZA XI& 903,260
= 451,630
== 451,630
SUEFAILHS AFZEIIXRAASE(Z2) 84,000 84,000 0
Jl 42,000
T 42,000
307 2120l ™ 84,000 84,000 0
Il 42,000
& 42,000
02 QItAME X 84,000 84,000 0
OAMEEIZ X 84,000
Jl 42,000
< 42,000
Zstolsns g4ds NA(=1) 300,000 300,000 0
= 150,000
S 150,000
307 2I2F01 ™ 300,000 300,000 0
= 150,000
= 150,000
02 IZtBAE X 300,000 300,000 0
OZAZSM=n=E NEMH 29 300,000
= 150,000
= 150,000
23 2388 |4 2,948,000 2,841,000 107,000
3 1,000,000
Il 1,453,000
= 495,000
223 BSE=E ¥ Zdts 377,000 1,257,000 A.880,000
201 B2 10,000 10,000 0
01 At 221l 10,000 10,000 0
O=sSET 48 2HIEIMH 2 10,000
202 04 Hl 7,000 7,000 0
01 =3O 7,000 7,000 0
OZ2=2s Y 22U 7,000
207 A IH 100,000 0 100,000
01 A ESH 100,000 0 100,000
OS2y A8 JI2HE +8 100,000
307 2I2t01 ™ 260,000 1,200,000 £940,000
02 QIZtH AP X 260,000 0 260,000
OZRU=SES S ol AH2E 260,000
2oos g43(=321) 1,571,000 1,584,000 213,000

-316-




2A:
33

Ehe

i
40
]
o

1,453,000
118,000

308 At XISHHMSOIA

1,571,000

1,453,000
118,000

1,584,000

A13,000

01 AHXEHNBLEES
_Cr>_

OZ2&HI*X At

1,571,000
1,571,000

1,453,000
118,000

1,584,000

213,000

0§

1,000,000
1,000,000

1,000,000

o

1,000,000
1,000,000

1,000,000

FZNol=dE3 Nz

o

1,000,000
1,000,000
1,000,000

1,000,000

]
A
Bl
o
=z
1]
H0

=

H oo

560,000

200,000
360,000

400,000

160,000

300,000

400,000

£.100,000

300,000

300,000

0

300,000
300,000

300,000

0

H ok

260,000

200,000
60,000

260,000

308 AtXISHMSOIA

H o

260,000

200,000
60,000

260,000

01 AXSHHIAEXS

o} = M2eH 24

H o

260,000

260,000
200,000
60,000

260,000

=
[

SR HAR BE - ME5(BH2E

/D
[

3

)

HTAD X o 1

21,422,495
10,519,227
654,000
1,372,920
2,289,165
6,587,183

19,564,875

1,857,620

X2l

3,330,361
288,641
654,000

1,372,920

1,014,800

2,317,147

1,013,214

100,000

100,000
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M 2501
¥ SR HAF 2E - s
tel: 2algAte AEIIE BE - IS (et 8 )

207 A2 IH | 100,000 100,000 0

01 23 ESH 100,000 100,000 0
OHZXE 23N &M 100,000
SN2 MBS EII=() 01 50,000 50,000 0
308 XX EtHI S0 ™ 50,000 50,000 0
01 AXEtHBaEES 50,000 50,000 0
oA JEIIE Ot 50,000
SfEEI}MN 25 - 84 465,800 465,800 0
202 0fHl 3,600 3,600 0
01 =W oIl 3,600 3,600 0
ORERSNM B2 - 4 2R =& 3,600
307 2I2t01™ 20,000 20,000 0
2 UANBLEE 20,000 20,000 0
OLRYFERSN HSE0E &AM XA 20,000
308 XXM SO0l E 442,200 442,200 0
01 AXEHILEES 442,200 442,200 0
Ok REISN ds=XE 364,200
OZEHN 2&3 XN& 30,000
O REISM SHEA 48,000
2 e 29 36,300 37,300 21,000
201 Ler24 | 30,000 30,000 0
01 At 22l 30,000 30,000 0
OEsfIEs 29 20,000
OB AHA SIEIIE(2)0td Moes 29 10,000
202 OiH| 6,300 7,300 21,000
01t zU OBl 6,300 7,300 21,000
OFstR&tY &L ¥ J|ER2H YRFA 6,300
28 =cIE0AM g2t 10,000 10,000 0
201 224 10,000 10,000 0
01 At 22l 10,000 10,000 0
O3 scl2M g2t 10,000
llgg 2daa(31) 80,000 80,000 0
= 80,000
308 XXt S0 ™ 80,000 80,000 0
= 80,000
0O RHXNSHBLEXS 80,000 80,000 0
O="=a M Tatzel 80,000
= 80,000
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FA: 2otz
M BER4L HANR BE - HE(SSHL2Z/23M)
thel: ESRAe I8 BE - A5 (el

o

L2 SE2SM ZAMA 2H(21) 152,220 235,189 282,969

p 126,920
= 25,300

308 XHXIEHHI SO & 152,220 235,189 £82,969
p] 126,920
| € 25,300

01 HXSHHBNEES 152,220 235,189 82,969
OZRSZSS LA x| 152,220
p] 126,920
< 25,300

SESHN LWAAE 2=(2D) 882,400 367,949 514,451
p 781,900
= 100,500

403 XX EHXI S XHR 01 & 882,400 367,949 514,451
p] 781,900
= 100,500

01 HXISH =S 882,400 367,949 514,451
ORNKF2EM YWAALY 7= 882,400
ol 781,900
= 100,500

SN B8 S4AY XV(2D) 94,000 0 94,000
= 94,000

308 XHXI EHHISOI & 94,000 0 94,000
=2 94,000

01 HXSHBAHSES 94,000 0 94,000
OSSMEE 24MY X 94,000
= 94,000

HASAS SHR2 ¥ 282(2D) 10,000 0 10,000
= 10,000

308 XFXISHHI SO 10,000 0 10,000
=2 10,000

PN EREES 10,000 0 10,000
OMARN SR ¥ B2 10,000
= 10,000

23 SEAY(2D) 663,000 550,000 113,000
p] 464,100
= 198,900

307 2120l A 663,000 550,000 113,000
p 464,100
= 198,900

02 DIAAMBE 663,000 550,000 113,000
O2M SEAY 663,000
p 464,100
= 198,900
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SN 230D
u: 2aRMo WA BE - HS(SHYBB/2E)
S9l: 2ainae RYIH BE - A5 (S5l @)

SR ANEZRQR 2¥(=1) 9,641 7,610 2,031
= 9,641

308 KtXI SHXISOI & 9,641 7,610 2,031
=2 9,641

01 RXSHBNRES 9,641 7,610 2,031
o2 WT2l AE=2QY 2 9,641
= 9,641

XY AN (2D) 654,000 140,000 514,000
=t 654,000

308 XX SHH SOl & 654,000 140,000 514,000
e 654,000

01 KHXISHBNEES 654,000 140,000 514,000
OOl2|Zel N8 FHSBUE HE XY 504,000
z 504,000
osItiN A2l HMEOE =4 XY 150,000
z 150,000

PHS M4B 29 2435 NA(2D) 123,000 0 123,000
= 95,000
[ 28,000

308 XtXI SHH SOl & 123,000 0 123,000
= 95,000
& 28,000

01 AXESHBARES 123,000 0 123,000
ORESH N M42Hs Z20Y 2% 123,000
= 95,000
[ 28,000

SaEs ¥ S| 18,002, 134 17,247,728 844,406
= 10,230,586
g 2,289, 165
= 5,572,383

231 B4R 4,103,565 4,609,115 A505,550
= 2,289, 165
= 1,814,400

202 014 14,400 15,200 £800

01 2UH0IHI 14,400 15,200 2800
o2& B4FYl = 14,400

403 IXISHS =201 & 4,089,165 3,893,915 195,250
g 2,289, 165
= 1,800,000

01 RXEHR=LE 4,089,165 3,893,915 195,250
OETXHSE T B4FH| 1,800,000
OSXHEs M B4FH| 2,289, 165
2 2,289, 165

HEMNE BEXY(2D) 1,830,000 1,456,000 374,000
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FA: 280z
F: BIRMY HIAN B - HE(2SL2F/25HM)
e 23 Es & SEEI (&9 & Q)

= 1,220,000
& 610,000
403 XXM SXH=01E 1,830,000 1,456,000 374,000
= 1,220,000
& 610,000
01 AXSHMA2E X 1,830,000 1,456,000 374,000
odsAE EEXE 1,050,000
= 700,000
S 350,000
OXSAE YALE 2F 780,000
= 520,000
& 260,000
IIDVNE23 M 2+FEI(21) 12,158,569 11,182,613 975,956
= 9,010,586
3 3,147,983
403 XX &M S X201 d 12,158,569 11,182,613 975,956
= 9,010,586
= 3,147,983
01 IXSHHMA=2ER 12,158,569 11,182,613 975,956
O=JHXE 28 M E+3H| 12,158,569
= 9,010,586
= 3,147,983
Y2 AAHI(2st0i=) (J1EHIIE 37,000 41,840 24,840
Jl23H| 37,000 41,840 24,840
EANEE JI22| 37,000 41,840 24,840
201 ¢824l 30,000 27,490 2,510
01 AR 2eldl 30,000 27,490 2,510
ORA2Y AIR22IH] 30,000
202 o1l 7,000 9,600 22,600
01 HOIYI 7,000 9,600 22,600
EA29d =UHobI 7,000
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